KRAKEN 580 ORANGE BLUE

Please read this user manual carefully, it contains instructions for the correct assembly of the KIT. [5 E 5 8 6]
Please refer to the website www.goblin-helicopter.com for updates and other important information. Thanks You.

Main Blade 580 Tail Blade 95

[S580] [S95]

Canopy Orange Blue K580
(H2101-S)

] | -- - = - - i i i —
Main Frame K580 :

(H2100-5)

ESC Plate Mount K580
(H2099-S)

- e %\ -
" Pv ﬂ

W -

pe 5

N

DX Low Side Frame Orange Blue K580
[H2104-S]

SX Low Side Frame Orange Blue K580
(H2103-S)

SAB HELI DIVISION

Page 01 A &




INSTALLATION ESC WE

Flat Head Cap
Screw M3x8mm
(HC134-S)

Socket Head Cap
SC Plate Mount K580 Screw M2.5x8mm

) s

ESC Plate Mount
K580 Spacer
3 (H2099-S)

Socket Head Cap
Screw M2.5x12mm
(HC022-S)

ESC Plate Mount K580
Assembly

Nylon Nut M2.5 Socket Head Cap
(HC200-S) Screw M2.5x8mm

(HC020-S)

SAEB HELI DIVISION




SPARE PARTS

ESC Plate Mount K580 Main Frame K580 Canopy Orange Blue K580
(H2098-S) (H2100-S) (H2101-S)

a
-1 x ESC Plate Mount.

- 1 x ESC Plate Mount K580 Spacer. - 1 x Canopy Orange Blue K580.

- 2 x Flat Head Cap Screw M3x8mm. -1 x Main Frame K580. - 2 x Canopy Grommet.
Boom Orange Blue K580 SX Low Side Frame Orange Blue K580 DX Low Side Frame Orange Blue K580
[H2102-S]

(H2103-S) [H2104-S]

VS

- 1 x Boom Orange Blue K580. - 4 x Socket Head Cap M3x10.

- 2 x Locking element Tail. - 2 x Nylon Bolt M8x14.

- 4 x Finishing Washer M2.5. -1 x Nylon Bolt M8x20.

-1 x Nut Lock. - 3 x Nylon Nut M8.

- 2 x Double-sided Tape 10x30. -4 x Nylon Nut M2.5. -1 x SX Low Side Frame Orange Blue K580. -1 x DX Low Side Frame Orange Blue K580.
Main Blade 580mm Tail Blade 95mm

[s580] [S95]

C—w
e

- 2 x Main Blade 580mm. - 2 x Tail Blade 95mm.

Page 03 Ae—

SAB HELI DIVISION




	Sheet1
	Drawing View40
	Drawing View41

	Sheet2
	Drawing View37
	Drawing View42
	Drawing View43
	Drawing View44

	Sheet3
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View58
	Drawing View59
	Drawing View60
	Drawing View61
	Drawing View62
	Drawing View63
	Drawing View64


